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 BCOC-134  

BACHELOR OF COMMERCE  

(B.Com.) 

Term-End Examination 

June, 2022 

BCOC-134 : BUSINESS MATHEMATICS  

AND STATISTICS 

Time : 3 hours Maximum Marks : 100 

Note :  Question no. 1 is compulsory. Attempt both Part 

A and Part B. All questions carry equal marks.  

 

1. (a) With the help of examples, explain the 

properties of determinants.  

(b) Explain the functions of statistics with the 

help of an example. 10+10 

PART A 

Attempt any two questions. 

2. A sum of money is deposited by Mr. X which 

compounds interest annually. The amount at the 

end of 2 years is < 10,816 and at the end of  

3 years is < 11,248·64.   

 Find the following : 20 

(a) Money deposited by Mr. X 

(b) The rate of interest 
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then show the following : 20  

(a) (AB)C = A(BC) 

(b) A(B + C) = AB + AC 

(c) AI = IA = A 

 

4. Explain Input-Output Analysis with the help of 

an example. 20 

 

5. Explain with the help of an example; the inverse 

and composite functions. 20 



BCOC-134 3   P.T.O. 

PART B 

Attempt any two questions. 

6. The following data relates to marks obtained by 

students in their Accountancy examination :   

Marks (below) No. of Students 

3 2 

5 5 

7 10 

10 15 

13 20 

15 35 

20 42 

25 47 

30 50 

 From the data calculate : 20 

(a) Median 

(b) Mode 

7. (a) Explain the utility of time series analysis 

with the help of an example. 

(b) Discuss the different types of indices with 

examples. 10+10 
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8. Calculate standard deviation for the following 

distribution by direct and shortcut method. 

Assume mean as 32. 20  

Serial No. of Workers Wage (<) 

1 20 

2 22 

3 27 

4 30 

5 31 

6 32 

7 35 

8 45 

9 40 

10 48 

 

 9. Distinguish between the following : 10+10 

(a) Correlation and Regression 

(b) Absolute and Relative Measure of Dispersion 
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 ~r.gr.Amo.gr.-134  

dm{UÁ` _| ñZmVH$ 
(~r.grAmoE_.) 

gÌm§V narjm 

OyZ,  2022 

 

~r.gr.Amo.gr.-134 : ì`mdgm{`H$ J{UV Am¡a gm§p»`H$s 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & XmoZm| ^mJm|, ^mJ A Am¡a ^mJ ~ 
Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ h¢ & 

1. (H$) CXmhaUm| g{hV gma{UH$m| Ho$ JwUm| H$s ì`m»`m 
H$s{OE & 

(I) gm§p»`H$s Ho$ H$m`mªo H$s CXmhaU g{hV ì`m»`m 
H$s{OE & 10+10 

^mJ A 

{H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 

2. lr_mZ X Ûmam H$moB© YZam{e MH«$d¥{Õ ã`mO na O_m H$s  
JB©, O~{H$ ã`mO à{V df© g§`mo{OV hmoVm h¡ & 2 dfmªo Ho$ 
A§V _| {_lYZ < 10,816 h¡ VWm 3 dfmªo Ho$ A§V _| `h 
{_lYZ < 11,248·64 h¡ &  

 {ZåZ{b{IV kmV H$s{OE :  20 

(H$) lr_mZ X Ûmam O_m H$s JB© am{e  

(I) ã`mO H$s Xa 



BCOC-134 6 

3. `{X 













43

21
A , 
















3–2

01
B  Am¡a 
















10

1–1
C , 

Vmo {ZåZ{b{IV kmV H$s{OE : 20 

(H$) (AB)C = A(BC) 

(I) A(B + C) = AB + AC 

(J) AI = IA = A 

 

4. {Zdoe-~{hd}e {díbofU H$s CXmhaU g{hV ì`m»`m  

H$s{OE & 20 

 

5. à{Vbmo_ Am¡a g§ ẁº$ \$bZm| H$s CXmhaU g{hV ì`m»`m 

H$s{OE & 20 
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^mJ ~ 

{H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & 

6. {ZåZ{b{IV Am§H$‹S>o N>mÌm| Ûmam CZH$s boIm narjm _| àmßV 
A§H$m| go g§~§{YV h¢ :    

A§H$ ‘go H$_’ N>mÌm| H$s g§»`m 

3 2 

5 5 

7 10 

10 15 

13 20 

15 35 

20 42 

25 47 

30 50 

 Cn`©wº$ Am§H$‹S>m| go {ZåZ{b{IV H$s JUZm H$s{OE : 20 

(H$) _mpÜ`H$m 
(I) ^y{`îR>H$ (~hþbH$) 

7. (H$) H$mb loUr {díbofU H$s Cn`mo{JVm H$s CXmhaU 
g{hV ì`m»`m H$s{OE & 

(I) {d{^Þ àH$ma Ho$ gyMH$m§H$m| H$s CXmhaUm| g{hV 
ì`m»`m H$s{OE & 10+10 
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8. {ZåZ{b{IV ~§Q>Z Ho$ {bE àË`j Ed§ bKw {d{Y go _mZH$ 
{dMbZ H$m n[aH$bZ H$s{OE & 32 H$mo H$pënV _mÜ` Ho$ 
ê$n _| à`moJ H$s{OE &  20 

_µOXÿam| H$s H«$_ g§»`m 
_µOXÿar 
(<)  

1 20 

2 22 

3 27 

4 30 

5 31 

6 32 

7 35 

8 45 

9 40 

10 48 

9. {ZåZ{b{IV _| A§Va ñnîQ> H$s{OE :  10+10 

(H$) ghg§~§Y Am¡a à{VJ_Z 

(I) n[ajonU (dispersion) Ho$ {Zanoj Am¡a gmnoj _mn 


